
Determine if the following systems are topologically equivalent or not: 

 

 1.  ቐ
ሶݔ ൌ ݕ2 ൅ ଶݔ

ሶݕ ൌ ସݔ െ ݔଶݕ3 ൅ 1
      and      ቐ

ሶݔ ൌ ሺ1 ൅ ଶݔ ൅ ݕଶሻሺ2ݕ ൅ ଶሻݔ

ሶݕ ൌ ሺ1 ൅ ଶݔ ൅ ସݔଶሻሺݕ െ ݔଶݕ3 ൅ 1ሻ
 

 

2.     ൝
ሶݔ ൌ ݔ

ሶݕ ൌ െݕ
          and         ቐ

ሶݔ ൌ ଶݔሺݔ ൅ ଶሻݕ

ሶݕ ൌ െݕሺݔଶ ൅ ଶሻݕ
 

 

3.  				൝
ሶݔ ൌ ݔ ൅ 1

ሶݕ ൌ െݕ
          and    ቐ

ሶݔ ൌ ሺݔ ൅ 1ሻሺݔଶ ൅ ଶሻݕ

ሶݕ ൌ െݕሺݔଶ ൅ ଶሻݕ
           

 

4.    ቐ
ሶݔ ൌ െݕ െ ݔ2 െ ଷݔ4

ሶݕ ൌ 	െ2ݕ െ ݔ
       and      ൝

ሶݔ ൌ െݔ െ ݕ7

ሶݕ ൌ 	െ2ݕ ൅ ݔ10
 

 

5.    ቐ
ሶݔ ൌ െݕ െ ݔ2 െ ଷݔ4

ሶݕ ൌ 	െ2ݕ െ ݔ
    and      ቐ

ሶݔ ൌ െݕ ൅ ݔ2 െ ଷݔ4

ሶݕ ൌ 	െ2ݕ െ ݔ
 

 

6.     ൝
ሶݔ ൌ െ2ݕ െ ݔ

ሶݕ ൌ ݕ	 ൅ ݔ2 ൅ ଷݔ4
       and       ൝

ሶݔ ൌ െݕ

ሶݕ ൌ ݔ	
  

 

7.      ൝
ሶݔ ൌ ݕ

ሶݕ ൌ ݔ	 െ ଶݔ
      and         ൝

ሶݔ ൌ ݕ

ሶݕ ൌ 	 ଶݔ െ ଷݔ
 

 

8.        ൝
ሶݔ ൌ ݕ

ሶݕ ൌ 	െݔ
     and        ቐ

ሶݔ ൌ ݔ ൅ ݕ െ ଶݔሺݔ ൅ ଶሻݕ

ሶݕ ൌ െ	ݔ ൅ ݕ െ ଶݔሺݕ ൅ ଶሻݕ
 

 

9.        ቐ
ሶݔ ൌ ݔ ൅ ݕ െ ଶݔሺݔ ൅ ଶሻݕ

ሶݕ ൌ െ	ݔ ൅ ݕ െ ଶݔሺݕ ൅ ଶሻݕ
     and        ቐ

ሶݔ ൌ ሺݔ ൅ ሻሺ1ݕ െ ଶݔ െ ଶሻݕ

ሶݕ ൌ ሺെ	ݔ ൅ ሻሺ1ݕ െ ଶݔ െ ଶሻݕ
 


